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A. Answer the following Uams By chopsing the bast choice
themselves. “It" refers to ..., eviesans .
a. doubling time b. population base  c. exponential growth
2. Demographic ...... e
transforming its growth pattern,

a. eycles b. {ransition HET d. change

3. Geographers share an interest in ............ . /el - and near the surface of the carth,
&, sapitation b. agrarian / stad &. spatial

4. It involves permanent re paving behind of the old, and a new beginning. *K" refers to

2. migratio B bppression ¢. domination d. contraception

i Tollowing ilems is appropriate English equivatent for s e cumd

goarmied conflicts : b. material circumstances
<. employment apportunitics d. oppressive government

6. The few demands for the new car have brought about & considerable slowgiows. *Slowdown*
a. consideration b. definition ¢. reduction d. production
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7. Which of the following items is the point a2 which a tributary joins the main streany:  #
a. confluence b til] c. ihver 4. valley

8. The process of the spreading of an idka or innovation from its source to other cultures is the process of
culrurad ..l .
a. domastication b. diffusion . Tanagement d. communication

9. Which of the following items is appropriate English equivalent for ufiu. cwmd

a. heavy duty b. prevailing modes ¢, heavy leaching d. chicf washing

10, Another very obvious influence on the location of industry

gurvives as a town.

i population
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the following inesns is appropriste English oquivalent for S Jas ol 4Sut

channel networks mm:mpmmtwo;‘ks
. distribution aetworks d. precision netwaorks
14, It aceelerated industrislization and diffusad the process from certain arcas of innovation to other parts
of the world. "R" refers to .o, .
a. Industriat revolution b. Agriculerun! revolution -
<. population migration 4. Railroad development




(1)t s (g 40 Sk (ade gl
ke - gbal Gy

WATeraant oy ppdd

15. 1 s the sale right to supply of trade in some good or service. "It refergto ..o
a. complex b, monopely . know-how d. invention

16. Which of the following items is appropriate equivalent for capilal:
&, substitute b, make up for c. wealth d, patronage

17. In North America there are emerging megalopolitan region including Montrea! ~ Toronto - Windsg)

18, A cernain kind of
into suburbs.

a. immigration b urbanization ¢. decentralization

C. gqoarter d. village

22, City ia not simply disorganized, rndom .............. of duildings and people.
. aceumulite b. sccumulating . accumuiation ¢ sccumututely

23, Which of the following items is appropriste keyword for "the areas of influence of & ¢ily including
both coarial and inland tawns"
& hinterland b. intranmsetropolitan €. country d. municipality







